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A rectangular water reservoir contains 126 Kilolitres of water. The depth of

the reservoir is 3.5 m and its length measures 8 m. What is the width of the

reservoir?

Teh TTAATRR TATI H 126 TRATIETET UTHT 21 STETTITT ohl I 21 T
SHeh! TS 8 WK &1 FCATIE <hl HISTS T 2?2 @
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Two numbers A and B are, respectively, 20% and 56% more than a third
number C. The ratio of the numbers A to B is:

E1 HEATY A 3R B Ueh et G&AT C W A 20% 3R 56% 31Tk ¥ 63T A
T B € 31UTd T 82

A ® —
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By selling an article for 1,500, double the profit is obtained than the profit
that would have been obtained by selling it for ¥1,350. Find the cost price of

the article.

T TG ol 1,500 H T U IH E1,350 T AT UX TH G- S S 4T
SITH BYAT §1 TEG ST HT HE T4 SHITT0N @
' — ¥\
\J\j( Cj)/q% O\\”\du 1. 1,000

2. 1,200

3. ¥1,100

4. 1,400
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The base of a triangle is 8.5 cm and height is 14 cm. The height of another

triangle, having base 14 cm and double the area of the first triangle, is:

U P19 T STTeR 8.5 A ofR SaTE 14 T 21 14 At S719R 3R uget Bt

SN QFAHE AT Ueh 31+ 17T Sh1 SrerTs T 22 @

PAseon~ —L\L oy ket
\ \/\% < x))d\?_- A S G- 1. 15¢cm

*Q 2. 16 cm

& —~ 4. 17 cm
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What is the compound interest on a sum of 12,600 for 1.5 years at 20% p.a., if

the interest is compounded half yearly? (Nearest to a %)

It STeT TSNS T & TAITd FeraT STaT ®, v 212,600 Hr ARTW 1.5 a9 &

1T 20% faare &Y X A Tehdlg AT FAT FHT? (T oh bz @
> Yoo Tme =15 —-—s\%

P=\2boo

Rae =27 1. ¥4,169
\26 0 = \o < \w%
\260  \3&/ ¥ \ "o 2. 74,251

o f%% %\Z&

= ¥\’\ TO60 4. F4.269
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A's monthly salary is 20% more than B's monthly salary. C's monthly salary is
25,000 more than B's monthly salary. Their total monthly salary is ¥2,65,000.
The salary of B is what percentage of that of C?

A T HTIh SdT B o AT JaT & 20% 37Tk g1 C T ATk dda7 B & "Ik
' el ATk A £2,65,000 1 B T Ja= C o Sa

1. 55%
\o S\ 4(35@0

s

A{ "_]_So — 4. 70%
~?SQ
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A can do a piece of work in 12 days for 6 hours per day, and B can do it in 8 days

for 7 hours per day. How long will they take to do the work, working together,

for 9 hours a day? /\
A T ST T TTATEH 6 H¢ T 5 12 ToAT 3 031 o WehaT &, 3T B 38 idfe 7 €9
e e 7 8 TR 3 o ot T 81 weweer Wi 0 3 e o g0 3@

T R H Thaar aug & ? @
1. 4 days

4. 4.5 days
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Varun can do a work in 28 days. In how many days can the work be completed

by Sarvesh, if the efficiency of Sarvesh is 40% more than that of Varun?

quwﬁwm%luﬁﬁﬁwaﬁawwaﬁwﬁM%

3TFereh 2, T T9T g hrel okl foher a1 W o ferma <1 wehar 22
NI AR SNON \/cwwc\ @
A6/ e 1. 16 days

— AIRS 1 7N\ 2. 15 days

3. 18 days

4. 20 days




SSC MTS 2022-23

Instead of dividing ¥3,910 among P, Q and R in the ratio 1/4: 1/5: 1/8 , by
mistake it was divided in the ratio 4 : 5 : 8. By how much did R gain in this

transaction?

3,910 1 P, QaﬁTR%saﬁa 1/4: 1/5: 1/8 < ITUTd | fareTiRTa s o =TT, Tt

qIH4:5: S%agrmfr%rmﬁmaﬂ waﬁmm
_gaq_r? -
) 0 —\/\% \/\% @

T

2. T8I0

3. ¥940

4. 2900
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The sales for 5 days are given as: 5,000, 6,000, 8,000, 7,000 and ¥9,000. What
must the sales be on the 6th day so that the average becomes ¥8,500?

sﬁﬁaﬁﬁzﬁwwé’m‘s‘% 75,000, %6,000, 8,000, £7,000 2R 29,0001 B3 f&T
%zﬁwgﬁﬁar%qarﬁsaﬁw 8,500 U
ct shift

b
Sooo_\-é,‘ooo —\—%o@o .= @

\

2 Z10,000

3. 16,000

4. 15,000
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The valueof 4 x2+30f12-3+2%x(2-3)x2+3+20f3is:
4x2+12HT3-3+2x(2-3)x2+3+ 3R 2 HT U FIT 2?2

1. 59/18
2. 67/18
3. 23/6
4. 13/18
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